20244F 2 Re( bR EDHTH

B2 HEES |FHE A T EiES

FAIL P 2 RO |PSCEST = A 90.7 1
FAIL P 2 RO |PCEHT = A 79.5 2
FAIL L BOsH  |TCEST = A 71.3 3
FAIL P 2 HOZ | PEST = A 06.9 1
N e SEOHE — |TSCET = A 54.8 5
S5 JCRHRERT MOGE  |HTSCET = A 43.7 6
N e AEOH TSRS = A 21.2 7
FAIL P 2 MO |PET 1/ NH 91.5 1
FAIL B 2 wHOWE  |PSCETT B /NH 74 2
FAIL P 2 =O%  |PSCET B /NH 68.2 3
FAILPTRRE RO |TCEST B /NH 45 4
FAIL P 2 w08 PR E/NH 38.4 5
FAIL B 2 RO |FSCETT = A 31.56 1
FAIL L BOE  |FSCETT = A 19.46 2
S JCRHRERT MOf  |FSCET = A 14.8 3
IR JOW  |FCETT E/NH 42.58 1
FAIL M 2 EOB  |JSCET E/NH 41.74 2
IR EO%Z  |FSCETT EqH/INH 41.46 3
IR ROF  |FSCEST B /NH 33.22 1
FAIL 2 MO |FSCET B f1/NH 27.84 5
IR wO%  |FOCETT B f1/NH 25.16 6
IR MO |FSCEST B f/NH 24.96 7
IR HOS TSR BN 21.1 8
IR SO%F  |FSCETT B f/NH 17.32 9




